Breuken 3
1 |
vereenvoudigen

4/10 deel is  .... /5

3/15 deel is  .... /5

10/15 deel is  .... /3

6/8 deel is  .... /4

4/8 deel is  .... /2
2 |
nu andersom

1/2 deel is  .... /4

1/5 deel is  .... /10



2/5 deel is  .... /10

1/4 deel is  .... /12

3/4 deel is  .... /12
3 |
optellen

1/4 + 2/4=
3/8 + 2/8=

3/9 + 2/9=

1/6 + 2/6=

1/5 + 2/5=

4 |
optellen; let op!
1/4 + 3/8=

1/8+ 2/4=

3/4 + 1/8=

1/4 + 2/3= …./12 + …./12 =
1/3 + 1/4=

5 |
optellen
1/5 + 3/10=

1/2+ 1/4=

1/4 + 5/8=

1/6 + 2/3=

1/3 + 1/6=

